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Ql: This learning session is

u Learning session 1
n Learning session2
a Learning session 3

u Learning session 4

Correct-incorrect answer ratio

88% (21) correct 13% (3)
|




A type of measure that focuses on a process that leads to a
certain outcome

A Process re-design

. Outcome measure . Process measure



Q2: A type of measure that focuses on a
process that leads to a certain outcome

u Process re-design

n Core measure

a Outcome measure

u Process measure ~

Correct-incorrect answer ratio

29% (7) correct 71% (17) wrong
I

29% (7) ™




A type of measure that indicates the result of the
performance of a function or process

HOW To sPolL THE CHANGE STEW
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Q3: A type of measure that indicates the
result of the performance of a function or
process

How To sPoIL THE CHANGE STEW

| FORGOT THE

Process measure

QOutcome measure

Process re-design

Core measure
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Correct-incorrect answer ratio

96% (23) correct 4%
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In the Model for Improvement, the question"what are were &
trying to accomplish?" refers to

Can't you see we are too busy?

A Change ideas

. Aim Statements . Change ideas' measurement



Q4: In the Model for Improvement, the
question"what are were trying to
accomplish?" refers to

Change ideas

PDSA cycles

Aim Statements ~

Change ideas' measurement

Correct-incorrect answer ratio

75% (18) correct 25% (6) wrong
I




Which is NOT an essential component of an Aim Statement ®
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Population of focus . Measurement process




Q5: Which is NOT an essential component
of an Aim Statement

u Numerical goal
n Timeframe

0 Population of focus

u Measurement process

Correct-incorrect answer ratio

38% (9) correct 63% (15) wrong
1

38% (9) W 50% (12) A 8% (2)



"By November 2019, all clients with OUD will have an active &
RX"This aim statement is missing a

A Timeframe ‘ Population of focus

. Numerical goal . Measurement process



Q6: "By November 2019, all clients with
OUD will have an active RX"This aim
statement is missing a

u Timeframe

\ n Population of focus

a Numerical goal «~

Measurement process

Correct-incorrect answer ratio

75% (18) correct 25% (6) wrong
.




"Increase % of active Rx among clients with OUD from 60- @&
70% by November 2019". This is missing

n
'

A Timeframe ‘ Population of focus

Numerical goal




Q7:"Increase % of active Rx among clients
with OUD from 60-70% by November
2019". This is missing

u Timeframe

n Population of focus

a Numerical goal

u Nothing «~

Correct-incorrect answer ratio

79% (19) correct 21% (5) wrong
O




Final leaderboard

Rank

Nickname

OATriggers

KC & the band

DPC

Island gals

Detox5000

Total score

8189

6574

6485

6477

6333
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